[image: image1.png]1. Find the indefinite integrals. [Remember to include the constants of integration!]

a) /14 dz,
2
b) / a,

c) /\/ﬂ du.

2. Suppose that the rate of increase of paper production in the US for recent years is given
approximately by f'() = 0.05¢ + 1, in millions of tons per year; where t is the number of
years after 1980. If production in 2000 was 90 million tons, find the formula for f(t). [Hint:

Integrate f'(t).]

3. Evaluate these indefinite integrals by using a substitution rule.

a) /(z2 +1)%2z dz,

b) /e_a' dt.




